
Welk getal ontbreekt t/m 5.000?

Oefening 1

1. 3.253  -     =  2.690

2. 4.860  -     =  4.356

3. 1.288  -     =  512

4. 4.666  -     =  1.062

5. 4.012  -     =  1.913

6. 4.426  -     =  394

7. 4.711  -     =  1.527

8. 1.769  -     =  66

9. 4.003  -     =  2.251

10. 3.532  -     =  959

Oefening 2

1. 4.316  -     =  2.258

2. 4.226  -     =  524

3. 2.911  -     =  1.125

4. 4.569  -     =  3.813

5. 2.255  -     =  477

6. 2.511  -     =  1.907

7. 3.857  -     =  2.823

8. 2.854  -     =  1.262

9. 4.426  -     =  2.549

10. 4.760  -     =  264

Oefening 3

1. 3.861  -     =  2.873

2. 4.874  -     =  1.003

3. 3.936  -     =  2.283

4. 4.644  -     =  590

5. 3.136  -     =  890

6. 4.626  -     =  1.987

7. 3.732  -     =  1.946

8. 3.399  -     =  2.678

9. 3.498  -     =  1.090

10. 4.681  -     =  563

Oefening 4

1. 4.035  -     =  3.035

2. 4.061  -     =  2.937

3. 3.137  -     =  437

4. 3.502  -     =  2.317

5. 3.476  -     =  2.042

6. 2.883  -     =  334

7. 4.119  -     =  1.923

8. 2.855  -     =  88

9. 2.929  -     =  2.022

10. 3.246  -     =  1.393
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Oefening 1

1. 3.253  -  563  =  2.690

2. 4.860  -  504  =  4.356

3. 1.288  -  776  =  512

4. 4.666  -  3.604  =  1.062

5. 4.012  -  2.099  =  1.913

6. 4.426  -  4.032  =  394

7. 4.711  -  3.184  =  1.527

8. 1.769  -  1.703  =  66

9. 4.003  -  1.752  =  2.251

10. 3.532  -  2.573  =  959

Oefening 2

1. 4.316  -  2.058  =  2.258

2. 4.226  -  3.702  =  524

3. 2.911  -  1.786  =  1.125

4. 4.569  -  756  =  3.813

5. 2.255  -  1.778  =  477

6. 2.511  -  604  =  1.907

7. 3.857  -  1.034  =  2.823

8. 2.854  -  1.592  =  1.262

9. 4.426  -  1.877  =  2.549

10. 4.760  -  4.496  =  264

Oefening 3

1. 3.861  -  988  =  2.873

2. 4.874  -  3.871  =  1.003

3. 3.936  -  1.653  =  2.283

4. 4.644  -  4.054  =  590

5. 3.136  -  2.246  =  890

6. 4.626  -  2.639  =  1.987

7. 3.732  -  1.786  =  1.946

8. 3.399  -  721  =  2.678

9. 3.498  -  2.408  =  1.090

10. 4.681  -  4.118  =  563

Oefening 4

1. 4.035  -  1.000  =  3.035

2. 4.061  -  1.124  =  2.937

3. 3.137  -  2.700  =  437

4. 3.502  -  1.185  =  2.317

5. 3.476  -  1.434  =  2.042

6. 2.883  -  2.549  =  334

7. 4.119  -  2.196  =  1.923

8. 2.855  -  2.767  =  88

9. 2.929  -  907  =  2.022

10. 3.246  -  1.853  =  1.393
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